Semplificazione di polinomi

Periodo 1 - UdA 7-8

Semplificare 1 seguenti polinomi

1 —3x+22° + x

3] —3x + 227 + 1

5 —323 + 32? + 3% + 7
7] 3z 42+ 22 +3

9 —3 4322 — 2% +3

11 32 42+ 2z — 2?
13] -3z 4227 +x—142
15| =3z 4222 —222 — 2P 4z
17 =3z 422422 — 22+

19 ~3—22° +x — 227+ 2
21 3z 4+ + 3 + 4o — 327
23] r+22° —2— 23 + 1

25 =24 227 + 227 — 2t + 4a?
27 34527 +2— 2044

0 S = N

10
12
14
16
18
20
22|
24
26
28

—3 + 222 — 222
—3x° + 2% + 223
A2 — 2 — 222 — 227
—3r4at— 42
—3x 4222+ 31— 4
9¢ + b5x + 6x — 9
—3x + 2% — 22 — 2° — 22% + 32*
xt — 22° + 4z + 3+ bz + 22°
3z + 8z + 5z + Hx® — 8z — 2z
S — 22+ 2t + 225 — 3 — 2
3t 42422t — 32+ 14+ 2
3z 4222+ 20 — 2%+ x + 3
3+t — P+ 32+ 2 -5
3z + 4a® +2 — 2% — 322 + 3¢



SOLUZIONI
Semplificazione di polinomi  Periodo 1 - UdA 7-8

20 — 2 2 —3
20° — 3z + 1 4] 0
—223 + 627 6] —2
x? — 243 S| x? — 4z + 2
207 10 20° — 4
—2? — x4 2 12 11z
2% — 1 14] 30t — 23 — by
—x% — 2 16]  22° + 2t — 222 + 92 + 3
0 18 5
—23 =2 —1 |2 4203+ — 3
322 + 22 + 3 22 —x* —32° + 22 + 3
20 — 2 24] z? +3
4234+ 622 -2 [26) at—ad 43—z -5
—23 4 52 + 3 28 3zt — 3z + 2




